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(a) SHBLA A W A S AR3T 04 =48 £ 451 (15%)
b)Y FAEGIM AL AEE LT > &M 81 1 & 8% (abstract class) & ¥ d
(interface) = (10%)

2. % Sum(m)=1+3+5+... tn>
a. M lor @&y FH ik 0 CHEE K 5ok X, Sum o (10%)
b. Miuti@eyFH ik » 1 C 35 F K4k 58, Sum  (10%)

. T bl HF 2 do RN RAGE S M R 23, 6 B H e B2
(15%)

Finclude <stdio.h>

int mystery( int, int );

int main(){
int x, y;
printf( "Enter two integers: " );
scanf ( "%d %d", &x, &y ):
print £( "The result is =d\n", wmystery( x, y ) o)
return 0;

}

int mystery({ int a, int b ){

printf{(™td 4d\n”, a, b);

return a;
else

rebturn a + mystery{ a, b - 1 );
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a. SlEpditk sl s M2 Pl LKyl
char s{] = “this is a character acray”;
for(; *s t= "\0'; s++t) printf(™c v, *s);
b. g stringl fustring2 Z @A EME PR -
if{stramp{stringl, string2))

printf (“The strings are equal\n”);
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4. B mysteryl R EEBF? 4o Rk 1= 2468 YA mysteryl @ 14 %
177 (10%)

int mysteryl{ int n ) {
int r = 0, divisor = 1000, multiplier = 1;
while ( n > 10 ) {
if { n >= divisor ) {
v t=n / divisor * multiplier;
n %= divisor;
divisor /= 10;
multiplier *= 10;
)} else divisor /= 10;
}
r += n * multiplier;

return 1;
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FH o HBAEXTAR - (10%)
Finclude <stdio.h>
int. main(){
int i;
char arvay[ 5 11 20 1;
for (1L = 0; 1 <= 4; irvv ) |
printf( "Enter a string: " );
scanf( "%s", &arrayl i |l O | );
}

print{( "\nThe strings starting with "b' are:\n" );
/7 IR P 4G Ao AP
return 0;
}
6. %M C3EgE K student rec &%k 8,4 T 91i8m
StudentName. StudentID, DateQfBirth, EnroliStatus
H P EnrollStatus (324 £ 4) 5 5| R U5 » 6,5 T 74
{FRESHMAN, JUNIOR, SOPITOMORE, SENIOR],
DateOfBirth & % — @& # - .4 74 B B (Year, Month, Day). (10%)




